TR31FE

ERAHE BTRXBFERITINER

4R 5
No p:an]=! THES XA X HE%E
1| Fr31E4R248| HESR |RKEASESN 2,000 M
2| Fp31EFE4H268 = ERAEEAXNKEZERERVBRE 3,000 A
3| FERBI1F4826H| D |ZREASEN W/ 245 RA) -219 M
4 HINET 3 4,781 H
4 HXET 3 4,781 M
5%
No Xt H THRES THARE THE%E
1 SHMITESABH| # # [BIKSTFEIHRE 4,560 M
2| HFES5H158| #H B WK 4,100 M
3| SFMxTESR1TH| = HInBXTRELDERR RS 3,000 M
4| STTESA2B| HELR |[REEREAIFERIRM 8,040 M
5| HfIxESA22B8| # # [EARKFERKRS 4,560 M
6| SHTESA22H| # 18 %A%.t‘% BEEHSRE 9,120 M
7| SxESA228| # # |BAEBRXIAEHRE 4,560 M
8| SMMTESHA2H| £ & ﬁuiﬁﬁkf FLERABEREEHRERUVERS 3,000 A
9| wFxFS5A228] & & [EMHEAPHAERKERUVERXRBE 20,000 M
10 SFTESA298( i # |([JAFHEBRR 4,100 M
11| SHTESA298| SBE |[ELAVTTFUORBHR 49,050 M
12 SFMxESAA| il # |(BUAEIF—=F 10,000 M
5 R/t 12 4 124,090 [
5 K&t 15 ¥4 128,871 M
6A %
No Xt H THRXS THARE THE%E
1 SHTEA4B| = SHMTEKEFLLRHREREIRUVBRE 3,000 A
2| SFMxE6HSA| f 1E 7J<1 FlAMHERE 4,100 M
3| HMxE6A12B| il B |RISGEEBEEBRE 4,560 M
4| SHxTEA17H| = n%nxfﬁzmaﬂa%‘@%%,ar%ﬁﬁ%jﬂ%ﬁ%ﬁ-ﬁ@%mﬁ%&%ﬁ% 4,000 M
5| HIMTE6H198| Tt |FEEFEKELD 3,860 M
6| HMTE6A20H| £ B |EREROIKEIHRERUVEBHRE 3,000 M
7| $MxTE6A20B| & E |[FHI1E(SHURE)EERERDEKEIHESE 20,000 M
8| SFmTE6A20B| = E |$HFE N\TH/\HKEBXBEWEIEHOIE 10,000 M
9| H/MIFE6A24H| = B |SHREEAMNABESAESMERVEBHR=E 8,240 M
6 A /&t 9 4 60,760 M
6 AR&t 24 4 189,631 M
75
No p:an]=! THES THHNEE X HE%E
1 SHMxTETIA2B| = SHTEEBHKEARAMAIRGNERABEZESS 10,000 M
2| SHMxETIAI0B| SBE |[II=AKNBHER 25,500 M
3| SFxTETAI0B| 1 1 %Hfﬁﬁﬁ%ﬁ’rm;*A D 4,560 M
4| SFxTETAI0B| # B |BREESXEEERBEIRS 4,100 M
5| §MxTEIARI0B| & & 7M =k /N T E&Eaﬁ%ﬂé?&%ﬁ%ﬁ% 10,000 M
6| SHMTETAI0B| £ B |[KEFILLEBITHREHESERS 10,000 M
7| SMxTETR248| F # |/\RWHE qﬂﬁﬁiﬁ&ﬁﬂﬂ%EA 10,000 M
8| STxETA26H| F # |([FlEHERER EEFTKHBHKEIAR 10,000 M
9| SHTETAA| £ B |[SHTEEANARBREARSNERVEBHIE (6/245RA) -6,500 M
7 RNt 9 4 77,660 A
7AXREt 33 4 267,291 A




